SHTEE MRERMEARKRERE —RIFERXFE
(IR A DER) (8- M)
3% -1 | E | vus |ssvam| s | B E
1 —REExE
1 8i8€ - @S 1 BmaEE 3,199,000 3,251,000 -52, 000
2 BIREMAES 1,371,000 1,393,000 -22,000
3 ERAEE 506, 000 506, 000 0
2EEXSME 1 EESmME 94, 000 120, 000 -26, 000|F#a - BEamaH
INET 5,170,000 5,270,000 -100, 000
2 KB BXE
1 8% - e 1 BmaEE 382,000 383, 000 -1, 000
2 IREMAES 68, 000 67, 000 1,000
2 EZXSME 1 EXSME 0 0 0
INET 450, 000 450, 000 0
3 RIIRMMRIEEEE
1 8iEE - e 1 BmaEE 6,661,000 6,525,000 136, 000
2 mIREMEESE 1,176,000 1,152,000 24,000
2EEXSME 1 EESmME 1,500, 000 800, 000 700, 000|W-Tect B2 % - #i4 KT v o RIS
INET 9,337,000( 8,477,000 860, 000
4 EPEEEESEE
1 8i8% - @S 1 EmaEE 680, 000 680, 000
2 BIREMAES 120, 000 120, 000
INET 800, 000 800, 000
S EFAMEREEE
1 8i8% - @S 1 EmaEE 680, 000 673, 000 7,000
2 BIREMAES 120, 000 119, 000 1,000
SFEILKRFEEE 1,300, 000 1,300, 000 0
2EXSME 1 EXSNE 0 20, 000 -20, 000
2 0§ yMI7 S mE 100, 000 88, 000 12,000
INET 2,200, 000| 2,200,000 0
6 Z DthIX A
1 204 | 1 zoth 1,000 1,000 Omenes
INET 1,000 1,000 0
7 RTEiREE
1 ATARgEE | 1 AT HE 7,588,353 7,592,817 -4, 464
INET 7,588,353 7,592,817 -4, 464
=1 25, 546, 353| 24,790, 817 755, 536




(ZHEDER) (8- M)
%18 | E vaE |weves| we | S
1 —EEXE
| —REXE 1 BEH 850, 000( 3,969, 000( -3, 119, 000 s T o B o s 100
2 BERFRINEE 40, 000 40, 000 0
S MBEAN=E 130, 000 130, 000 0|Thix - BEEX
2 HEEE EF] 400, 000 400, 000 0|8 - BEaALHE
2 ERERE 100, 000 100, 000 0
SHAEMRE 50, 000 50, 000 0
4 iRE - RBEE 50, 000 50, 000 0
5 EHEHKE 2,250,000 2,450,000 -200, 000
6 BEHRSE 1,300, 000 1,200, 000 100, 000 | HmeE Al R
INET 5,170, 000| 8,389,000 -3, 219, 000
2 HXEEEE
1 A EIRES X 1 HKEHS 350, 000 350, 000 0|7k " 44 ~JR:E20F-F % 10, 30F-F %5
2 RE - RBE 50, 000 50, 000 Of7t n 14 -t
SEEE 50, 000 50, 000 0|z o7t w14 -1 % 5 28
INET 450, 000 450, 000 0
3 RIMMXIEEXE
1 RATXIEEX 1 Big&E 4,000, 000| 4,000,000 O|=gE0RATHE~DMEE
2 EhPREZR 1 HEH 3,397,000{ 3,749,000 -352, 000|ta£7 -2o /s
2 EEE 2,540,000] 1,728,000 812, 000(fez - EiE - waiE %
SHARTw EEEE| 1 BXE 800, 000 0 800, 000|wE B#B#I & T
5 HEERXE (= 100, 000 100, 000 0
INET 10, 837,000 9,577,000] 1,260,000
A EFEEHEESEE
1 ARBEX 1 EfRBE 500, 000 500, 000 X o
- LOTC UBIRBEER
2 EEE 300, 000 300, 000
INET 800, 000 800, 000
5 \AMBREEE
| EFREFFARR | FHER 250,000 250, 000 Oy 5 Iy smEFEE~0%
2 BEE 150,000{ 150, 000 0|
2 PEBREE | % 0|  250,000( -250, 000( g 1 o 5—v sy st mmipm
2 BEE 400,000]  150,000{ 250, 000[=FEE
3R yMIT BEE 1 MHE 400, 000 500, 000 -100, 000 o
- N2EORY FIHEISTOEEESE
2 Rit& 1, 000, 000 900, 000 100, 000
INET 2,200, 000| 2,200,000 0
6 FlinE
1 Fiw& | 1 Fiw& 6,089, 353 3,374,817 2,714,536
INET 6,089, 353 3,374,817 2,714,536
&t 25, 546, 353| 24,790, 817 755, 536




SHTEE HEBBEMHAREEDRSE RHARXESEHISHNRETE
[UR A DER] (8t - [)
3-8 g | vu@ |weEvwsE| @ | =
| AR EXE
1 BES - BHS 1 BT AaES 7,950,000( 4,950,000 3,000, 000
2 EISEAES 550,000( 550, 000 0
INE 8,500,000 5,500,000 3,000,000
2 Z DU A
1 Z0ith 1 20t 1, 000 1, 000 OlEemnaz
INE 1,000 1,000 0
1 AR = 1 BIEARES 1,708,140 1,665, 873 42, 267
2 BIRRESRBE 3,000,000 1,337,833 1,662, 167|r#vs 2 3 000%m
INE 4,708,140| 3,003,706| 1,704, 434
&% 13,209, 140| 8,504, 706| 4, 704, 434
[ZHDE] (8t - )
%18 g | vu@ |weEvwsE| #e | =
| AR E X
Vsnlyy BARBIRELE | | BIRE 11,500, 000 7,337,833 4,162, 167 [BomRres@uss
2 EBERE 10, 000 3,000 7, 000 |2 F 508t
INE 11,510,000 7,340,833| 4,169, 167
2 FiRE
| FiEE | FiE 1,699, 140| 1,163, 873 535, 267
INE 1,699, 140| 1,163,873 535, 267
&% 13,209, 140| 8,504, 706| 4, 704, 434




THREE HERNFAEREGSE RTEFRXEBESEFEHIRHRXTE
(IR A DEB] (4 M)
% - & g | 3us |wereE| wE S
| RiTEEREEE
1 &Ee - @HEE | ERESWHES 0| 6,877,000 —6,877, 000 |#BrxigsEams/4
2 BT AES 11,411,000 4,410,000 7,001, 000|zhHARE - WHARS - E2Q
SEIREMAES 400, 000 400, 000 0|Ezame
2EBXSME | REIGEESINE 434,000 500, 000 -66, 000
2 MHEESME 200, 000 200, 000 0
SHAHHEEESNE 240, 000 240, 000 0
4 2BEME 180, 000 240, 000 -60, 000 [pstsmes
INET 12, 865,000( 12,867, 000 -2, 000
2 ZTOHURA
1 20t 1 £t 923 805 118|EeRE%
INEE 923 805 118
1 AR & 1 ATEARR S 2,669,077 1,514,367 1,154,710
INET 2,669,077 1,514,367 1,154,710
=k 15,535,000( 14,382,172 1,152,828
(Xt DER] CToa))
% - & g | vus |wereE| we S
1 BT EBEREE
1 BHEEXE 1 EAEMH = 1,193,000| 1,260,000 =67, 000 [ 85t aramanan e
2 BERE 240, 000 250, 000 -10, 000 [semmess - -5 (+-5-BrsH
3 BME 525, 000 580, 000 -55, 000 |sHE 72 - HH%
4 RMHE 225, 000 265, 000 -40, 000 [s=rearet
5 HETEAEE 200, 000 250, 000 =50, 000
2 HEEEE 1 37 14-5- - 7 ERq¥—f5| 7,203,000| 7,203,000 05 +rtammn
2 WEE ) —R& 1,885,000 2,085,000 =200, 000
3 HWmIEREE 600, 000 100, 000 500, 000 [whissss + S imn
REE 420, 000 535,000 -115,000(EzE8% - st - 67
b EEBHE 375, 000 340, 000 35, 000 |#H5w%
INEE 12,866,000 12,868, 000 -2,000
2 FliRE
1 Fis#& 1 ¥iE& 2,669,000| 1,514,172 1,154,828
IR 2,669,000] 1,514,172 1,154,828
= 15,535,000( 14,382,172 1,152,828




